B[z 505 SR (B T-PHRrHER

~
AU

L5 AR | =
— ~ EEE (x4 b3 L M5 2n> F 2L F L
( Y1, TG oh— Bk L ? 156 =4 > 5 &b 4 &34 ( ) %
T sk Bl A~ e 3y
DL @85% @ @0.8 ;iif§LM$”J$%‘L FrE
()2 - B 1280 2k PR 4 T 47 5. T 64T, AR R AL 5 ( )
B BRI AT 96 >+ A ( ) % off -
g(l)oiom @980 ~ 3960 ~ @ 6 9370 — 2(100)
()3 AERL>RG 120040924 2R
G0 g gy = FFERARRA )
20 rr 6. | BAEEXFT AT OFAFHE o
D13+ @130 + 78+ DT80 (1) 0.08= ( ) %
. (2) 40%= ( )
(4 FEAm3 3200 4% > HP Rk F G 672 (3) 0.3= ( ) %
LRI S L ¢ (4) 5% = ( )
D2.1% ©@4.7% ©21% @47 (5) 0.75= ( ) %
% (6) 80% = ( )
()5 P F 600~ H ¢ 309%r 4%~ 50%
B2 f T 2R B &R | DU REFIRE
d2mens 9 L. %;f%' 10000 = g % > T 259%0ff | 8 i
D120% @80% ©20% @D48% 2872 25%0ff %7 A2
()6 mEmFY oI HRIA P 114 %
Bk o B¢ drrkdcy 81 B 0
502 (Rw BT » D) ik
Bomo RHEESE A )
D119 @56% ©@42% @29%
IR
Lo T o LA R
(1)45% = ( ) 2. FR*TPEEF Ty R EETATNE
(2)693% = ( ) BRE - 1200 Aensrd A8 H S
(3)70% = ( ) ~ 7
(4)0.5% = ( ) &

2 13.5x12%= ()

3, - PHBELgEEIE AT s AT HE
SR IO ) % o

4 (DS Eapd 136 27 > 5 & anf
£ EH159%0 S EAER( )

DT




3.

4.

- 7 600cceh A2 4m e 55 30cce g
RAEL AR LGS 909
%

=

A o

DF 2 A dcd 23805 2% 7
@& 2 A dcd 23805 97
e

5. &S ERIDORAKT 3200 ~ -

DFF F§ 2 PRI-HE R & 0 259 15 1%
TIJT ’:; L= {?

Q@ADL & F e THFIT & D25%
fz_j TELE,{PJT ’:; L= {?

%

TS P M- B2 A 1500 A g E e 2

*iEZ R o HAS A
=

=

h -~ HiE -

L HHFFAPEERF P Y ET LA

P!
Ao g r fFR4ArT o AT AL

e |~ (Fr)| FAEF
£ 8 2
R A 216
RE 32.5%
A 7.5%

2. mBEERF 1600 44 o &SR L AT

2.

Bt BcR G A FAeT A A0 TR
A U T

g | ety | wtp | oA | #ri
T A% 10% | 159% | 35% | 40%
(Dfp A8 L) e

D nfpfretatdpi () -

(3)7 # BBk iv> L aphtfai-t £ £
100 4% » £ A7 8 L AAHE S 4T A
Ky li_/ﬁ_)\'r%\ o

Rip | A | Pt
B2 F|C )%|C )%|C )%|C )%

VLI St R W X

=C D%



